TAKES ... BOUNDS

Q1.

Q Working Answer [ Mark Notes
s . . 5 . 5 . 54 . o
Sadendayendiyenia Bl ccept 9.649 for 9.65,3.849 for 3.85,
or 1.835 or 1.845 Y
1.8449 for 1.845
UB, —LB, Ml for correct substitution of
“=—IB 9.6< UB:19.65
) and 3.75CLB,< 3.8
5-3 75 and 1.835 LB, <184
OO .o L '
1.835
322 Al accept 3.21 — 3.22 from correct working
Total 3 marks
Q2.
Question Working Answer Mark Notes
8.305—-0.655 2 M1 For either bound
correct (used or seen).
Accept 0.6549
7.65 Al dep on correct method
shown
Total 2 marks
Q3.
Q Working Answer | Mark Naotes
9.65, 9.75, 5.85, 3 Bl for any one of these stated or used,
3.95. 23. 35 accept 9.749, 5.949, 3.49
9.75-5.85 M1 gor BB here
55 LEy
9.7 =UB,=975,
585=LBw<59,
25=LBy=3
This allows for the student who uses some sort of
lower/upper value. but are shightly maccurate eg using
9.74 for ¢
Working required 1.56 Al dep on previous marks (as working 1s requested)
Total 3 marks
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Q4.
Q Working Answer | Mark Notes
3023 or 5.025 or 4975 ar 4.975 4 Bl  Accept
5024.9 for 5025 or
5.0249 for 5.025
1.845 % 10° oe or 1.835 = 10° e Bl  Accept
1.8449 x 107 for 1.845 x 10°
— e
3.025 _(=27384..) oe M1 for correct substitution into
1.835x=10™
M
Vig
where
5= myy =5.025 and
1835x 103 < v, < 1.84x10°
27384 Al  dep on correct working
Tatal 4 marks
Q5.
Q Working Answer Mark Notes
12.45, 12.55, 135 or 145 4 Bl | For sight of 12.45,
12.55, 124.5,
Largest volume of cube = 125.5, 135 or 145
12.55° M1
12.552
Greatest number of M1
spheres Units must be
=12.55*+135 14 consistent
(=14.641899...) Al
Dep on M1
Total 4 marks




